
















4. The transformation T (u, v) = (u

2 + v, v) takes the triangle with vertices (0,0), (2,0), and (0,1) to the region

R as shown below. Find the missing limits of integration and circle the correct integrand for the iterated

integral that computes the area of R. (Note that the order of integration is already determined.) (5 points)
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5. In this problem you are to set up the integral of the function y z over the region R

(shown to the right) in the first octant above the cone z

2 = 3x

2 +3y

2

and inside

the sphere x

2 + y

2 + z

2 = 16. Check the box next to the integral with the correct limits

of integration, then circle the correct integrand. (4 points)
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6. Consider a solid object with density Ω
0

that occupies a region E in R

3

. The moment of inertia of the solid

around the x-axis is given by

I

x

=
—

E

g (x, y, z)dV ,

for some function g (x, y, z). Circle the correct integrand. (2 points)

g (x, y, z) = Ω
0

(x

2 + y

2 + z

2

) Ω
0

(y

2 + z

2

) Ω
0

(x

2 + y

2

) Ω
0

(x

2 + z

2

) Ω
0

x

2 Ω
0

x Ω
0

y

2 Ω
0

y





















































































10. Let S be the triangle through the points (0,0,0), (2,1,0), and (1,0,3). Parameterize the surface S

by r : D ! R

3

, being sure to specify the domain D of the parameterization in the (u, v) plane.

Note: you will receive partial credit if you parameterize the plane through those three points. (4 points)

D =

Ω
(u, v) : ∑ u ∑ , ∑ v ∑

æ

r(t ) =

ø
, ,

¿
.


































